2024 EEZIBFRBEBEFRAR—YKE
BAR: 202445/ 128

BFRE—E

BRESSUVLEEBRERSESNE OAELFEES
HH 4= )2 1451 243 3fiL AL 54 64iL 741 8431
5/12 103;%[1%5] H2lmE nE 15.35
Fick e
1328 F
5/12 |ELVE #wRK & 6:53.56
1500m[12]
BEm
15-18F
5/12 |ELVF INE #E— 2:49.77
800m[21]
=1 il
16-1BF
5/12 |ELVE +0.1| 2l K8t 29.73
50m[4]
=Gkl
19-18F
5/12 |ELVE B K 4270
50m[4]
E =BT
19-1BF
5/12 |EWLVE AR Kig 4:17.85
800m[21]
AT
19-18F
5/12 |RS5O0—L REE BE 58.07
[8]
=1 ol
19-1BF
5/12 |EWLVE +09|18 fB’iC 23.49
100m[13]
AT
5/12 %Oﬁg +05(Bh 1:02.01
=R HT
5/12 ggoﬁ?} +05| A A 3213
=i
24-2BF
5/12 |BE&% +0.2|/NEF Fih 13.31
50m[2]
BrETH
24-2BF — .
5/12 1500m[10] ZHEEL 7:13.46
=1t
25-18F T = 13.74
5/12 100m015] +1.2|FH BFE P
=1 ol
5/12 fgo;ﬁ; +12|t 2 L hirE 15.30
MEKSEE
26-1BF
5/12 1500m[10] 5 = 5:54.44

=I5




024EEEIRREEERR—Y KRR

BAR: 202445/ 128

BFRE—E

BRESSUVLEEBRERSESNE OAELFEES
HH 4= 2 1431 243 3fiL AL 54 64iL 741 84iL
5/12 ES;IE’G]E%¥ +09|EE B/ 147|& 5 #— 7.68|MiE 2= 7.96|&KA WE 8.92
BERHFDME BBAUET HEH DM HEHDME
271-LEBF 12.44] .. = 14.03 ] 1407, 0= 4o 14.19 14.40 o e 14.56] s = 2 14.66 wm 14.76
5/12 100m[15-16] BEE W 01| EL S 106 RE KE o4 |BF BE 10p|EF EE 1147 B 106 ERALHA ro6|fN KiE 106
AT #EYLE S SRAT BEH DM EFELSOE BEZES HOEEhR HEH DM
271-LEBF ——
5/12 {4 00m1] A —ER 56.95
HoTEdhp
5/12 %ag\nﬁ?}% [RE & 5:01.69|EF| #5F0 5:12.08|%F 3 5:15.05(#&7H #XK 5:26.25|HIE 5:32.64| 588 6:09.63|FH FE 6:38.73
HOEEHhR RBHUET #MWEYLE BEZES #EYLE B AT EELAPE
512 [AEEBTF| Lslimm wm 102w w& gis|lazk 8 8.52|faM % 8.56| FAHASE AL 1.04| KB A& 1357
50m[6] REH
& SAET = SAET INFRTT LT INBRTH INRTR
5/12 %62&?* 08|l =X 15.47| K4 $EH 17.37| S B4 A ER 19.63|5% T 23.08
E =T i Eish FEHT
21-FEEBF - ]
5/12 400m[1] BEA EAX 56.17| AR EREAK BB 1:47.68
FEAT ol
27_%&%% =1 . 2 —_ .
5/12 800m[22] & [BR 3:00.78|%F@ = 3:30.54
=Gkl T
5/12 27_%&%% :]:E] TE)ILE . o A . [ae] . BE NN . A~ .
1500m[10] S 5:2857|HT RE 6:04.64| 5 £ 6:08.41 |88 ] 6:28.54|/NEF —1E 7:05.15
ARIBET =il =1l =il E=HEr
2I-EEBF
5/12 200m[18] +05|RE =& 33.34
FEART
5/12 g;;j[iﬁ]ﬁ%% -02|zm B— 853|mm AF 11.55| £ AR 12.44
E = BT =il INBRTH
5/12 %afﬁ?* +05|2@m % 17.88|1@I W= 18.49|@ L E 21570 B= 2530|5011 £ 25.72
=i INFRTH SR HEET ARk T
21-HEFEBF — ,
5/12 400m[1] FE SR 2:25.02
E =0
5/12 f;aéﬁﬁ?}% EH B 5:46.86|hAf =% 5:52.15|=1F % 5:56.98| 2K =k 6:45.72
#HETH BT =il =i
5/12 %BE[?Z?% +0.5| 1 2 TR 57.47
BRh
2-28F
5/12 100mL15] +12|lkE I 26.63
AT
24-18F
5/12 ’EI.%[%] +0.7|5k B BK 8.59
50m[2
BHERE




2024 EEZIBFRBEBEFRAR—YKE

BAR: 202445/ 128

kst HOSAY =y o]

2

fo

I

SEFNE Var-fE L HKS

BFRE—E

HH 4= 2 1431 243 3fiL AL 54 64iL 741 8431
2328 F
5/12 |A50—L H #&F 1:27.95
[8]
=1 il
13-1BF
5/12 |ELVE AIRE XA 5:54.48
1500m[12]
= AT
1-28F% =
512 | wipkiooay | [BS HB Om78
#BHEH
1-28F
5/12 R A[306] IRTFT #BE 6m18
AT
1-28F% . 1m66
12 | ik 201] A +1.0
FEAT
4-28F
5/12 |Y7MR -V #% i RtE 14m50
[308]
BTHE
4-2BF
5/12 |V 4Awh- R SRR BEER 11m22
n—-[302]
Bz
5/12 Z@?ﬁgm] HE BE 8m3o|;Es #BER 8m06
HEEM JII EE BT
128+F
5/12 [V eAwh- 2 515 5= 20m72| e FHHR 16m48
n—[302]
=1 ol BZE
16-18BF
5/12 |E=un'yo'#% ¥k R [E K AR 2mO2|EiRk BEd OmO8|H FhE 0m06
[304]
BRELYDS BERELYDS ERELYS
2028 F <y
5/12 F.12[306] XE #BE 3m03
=1 ol
2028 F
5/12 [Y7ME— 1% wWR B— 13m16
[308]
I
22-18F die = o 10m40
/12 |59 #1306] (S N e
S SRET
2028 F
5/12 |Y7ME—-IL3% EH X% 25m92|{EH EEft 18m24 5% % 11m69
[308]
BEH BEH BREH
25-28F
5/12 |Y7hE-IL#% ERX T#H 16m73|_AK T 16m37|117% 8| 14m73| W17 FA 9m8s|#fE —B 7m25
[308]
ARIAT BEm AT P B R




024EEEIRREEERR—Y KRR

BAR: 202445/ 128

BF

REB—ER

BRESSUVLEEBRERSESNE OAELFEES
AR [EdE] = 141 2431 3fiz 43z 543 61iz 741 84
26-18F
5/12 |Y7ME-1L3% ot B 45m75
[308]
#BHEH
2628 F 1m40
5/12 FEMEB[201] BE R +0.3
BTHE
5/12 gg‘;igoﬁ] &/O%HE 8m79| K EH 6ms4
=1 il BEm
2628 F
5/12 |Y7ME-IL#% BiE %= 45m45
[308]
A okl
5/12 15 g e1203] BE EA 2m49
=1 ot
271-LEBRF
5/12 |Y7MR =% BZARKE 39m63|RE &A 28m60|15A = 23m73|ME BHE 19m82
[309]
INKCTET EELAOE ERELAPE HEUEDY
21-VEBF
5/12 [V'eA 9.2 e Bt 30moo| Il BA 12m88
n—-[302]
=1 ot EELARE
21-FEEBF
5/12 “IEH203] BHE BEX 2m45
=i
21-EEBF
5/12 |Y7hE=1L3% = B 25m76|FREE LA 18m61 |3 F #htst 9m96
[309]
F9)11 BT F9)11 BT E = 1
2I-BEBF
5/12 |V eA 98- =W 6= 19m88|REH 13m29
n—-[302]
=i F9)11ET
21-EEBF =
5/12 IEBE[203] AL &= 1m85
INBRTH
21-TEBF
5/12 |Y7M—-1L#% WA XRE 31m73|4c@ &R 11m17|¥IE Kig 8mi6|EAN &H— 6m90| &R X 5B 4m26
[309]
F9)11 BT E = A1 F9) 11 BT E =8 E=HEr
20-1BF =
5/12 Fa.12[306] g £7 5m86

N




